1 fF 4

(CHEXT )

2 P FE BT

TN 2 AEJE

o LLAT )| [ 75 A

A #l

JNZIT =B S 2 T A 27

=

= (

VYA
VEN [

FANEAL S 30

3 AN AL B B Sf 24 98 100 148 304
%1 0E 5% 2 7]
. ESZ (W NFLAT A filif . (C) FFAM i NFLAT A filif s (C) FFAM i " ]
o &) (BA7:H) B) |60X {1-B)/TE W +(©) (W7 ) B) | 60X {1-B) /T W+ i = i %
filiA% ) filiA% )
) =2 - b—- 32— 49. 2 20, 250, 000 8. 5823 57. 7823
(k) NTO 49.8 19, 800, 000 9. 7249 59. 5249 PEFLIETE
N TR (BR) — 23, 990, 000 T EATAS R
) Fa 48.6 19, 900, 000 9.4710 58. 0710
P R R (BR) — 24, 000, 000 T AN i
k) © = —axit 53. 4 23, 200, 000 1.0918 54. 4918
BR) WEHfFa L2k 52. 2 21, 100, 000 6. 4240 58. 6240
FREAFILIALERRE L TR ALEEDO 1 1 00D 1 0 0 IS T HEHTH S,
RS HER S EET) 21, 780, 000 M
TEAAS QHE B %2 BR<) 23, 630, 000 M
AL RS (H B R 2 R <) 19, 510, 000 M




A TG AL ST BT AT S

=)
¥ B L OREE XIS B AL A RS A& AT Dl AL =3
OB F OB AT R EE ST HeAfF s ooff M
A KL B :AM249H10H
FANRTAR AL D NER 53 1
it B
- I8 53
TEHME B S & i
it A
F i i i
% # 4 s e o % N i ? )
No. 3 " " 2 2
’ wh = ) i ) o @
e D 0] ] i =
i " @ & @ < ®
i3 b £
& K
17 33 50 50 50 100 60. 0
1| () == -bE—- 32— 12 20 32 50 50 82 49.2
2 | ) NTO 13 20 33 50 50 83 49.8 AL
3 |HENETE (BK) 17 20 37 50 50 - ¥ (A A R
4 | () T 15 16 31 50 50 81 48.6
5 |mEYEHAIERREE (BF) 11 0 11 50 50 — T AR A
6 | (BR) va—iks 17 22 39 50 50 89 53.4
7| BR) WEHMTa Lz b 17 20 37 50 50 87 52.2
8
9
10
11
12

XAfiA% R =60 x (1— AFL{H#&.~ P E M)
(MRS EYIYIET)




